MATHS SPECIAL

PRE + MAINS LIVE CLASS (ONE TO ONE INTERACTION)
BILINGUAL CONTENT
REGISTRATION o
OPEN 1 YEAR VALIDITY

(1 LIVE Classes L SSC EXAMS

L1 Result Oriented Approach U BANK EXAMS

1 PDF Notes 0 CSAT

L] Conceptual Clarity Ll STATE GOVT. EXAMS

DOWNLOAD TAIYARI KARO APP TO JOIN THE BATCH



MATHS SYLLABUS

ARITHMATIC: BANK: DOC:
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Number Series Number System
Time and Work Quadratic Equation LCM + HCF
Pipe and Cistern simplification
[ i Surds
Percentage A Approximation e
Profit Loss and Discount )
Data Interpretation Algebra

Compound Interest

Simple Interest _ _
Mensuration Trigonometry

Average Height and Distance

Ratio and Proportion
Based of Ages
Partnership

Mixture and Alligation

Permutation

Combination Geometry
Probability

Mensuration-2D

Mensuration-3D
Time Speed And Distance

Train
Race
Boat and Stream

Co-ordinate Geometry
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If 140% of A s eq“u//l to(450% of B then find-

¢ '___ S g 1...__ LA Levd
& B at 3 - ' ] : .-l . C f

) Alshowmuch%ofB7 A, Bfﬂﬁﬁm%%’ :
" us//“}@

2. Bis how much %more/less than A?
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6
If the height of tower A is 42 — %0 more than the height of tower B; then height
of tower B is what percen( less than the tower A 2 It 2TaX A &t Fa13 , 2TaX B

HFaEa 42 g 0 31feren &, AT B <hl 318, 2o A | T UiavTa A 82
(2)30% YELZ (c) 75% (d) 60%
(e) None of these
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If50% of A i eg;(ﬂ‘l to(80% of B while it is also e
of Cthen find- GRfA FTH0% B % 80% & SITER & , |

120% 3 &vrar ¥t
J)/Ais how much % of B? A, B &T fba1 % &2

-=
-

ii) B is how much % 'more/less than Sum of A & C together?

B, A&CH U e Fp AT % it J ﬁ%af
iii) Sum c @ is how much % more/less than the sum of B

and C? > n - i
~ A & C TN B sAv-c - & e % ot /e i /)( P
C is how much %(more or lesg than the difference of A &
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The age of Rampyari is 20% more than the age of Hulashi while the age of
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Ainvesteh se investme @ gether % %W
- U

then find the share o if C invested R(s 2400 AT B & 20% &# a9 Tera,
~ 2

HAdtF B &1 30
2400 TUI AT T4




17
Two number are(8 3 % Jand 0 less than the third ngi_t(lher respectively.
Then find 1*numbéris what percen{ more than 2% number? 3T Fa sHATT: Y

#m@rgﬁmﬁﬂi% R 12%% & 2| Tor 1 ot Ton vt aeaT gadt @
o fera ufaora srferes 22
(a) 16 % (b) 14> % () 4= % (d) 4> %

@@[le’_
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(e)None of these
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Two number are 32% and 20% less than the third
number. Then 1" number is what percent of 2"

number? G HER S ATAT A G AT 32% 3R 20% FH
) i aect St AmanT s AT iR 82

(a) 80% (b) 82.5% (c) 85% (d) 87.5%

(e) None of these



